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QUESTION 1

You are traveling to Chicago for a job interview. You leave Toledo, Ohio, at 5:45 A.M. and arrive in Elkhart, Indiana, at
8:15 A.M. The distance from Toledo to Elkhart is 136 miles; the distance from Toledo to Chicago is 244 miles. The
speed limit is 65 mph. What is the minimum speed you must maintain in order to arrive in Chicago before 10:30 A.M.?
A. 45 mph

B. 48 mph

C. 50 mph

D. 58 mph

E. 60 mph

Correct Answer: B

QUESTION 2

The aquarium shown below needs to be filled with water. If the aquarium is filled to the top, how many gallons of water
will it hold?

14"

A. 2.13 gallons

B. 16 gallons

C. 22 gallons

D. 3696 gallons

E. 853,776 gallons

Correct Answer: A
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QUESTION 3

Jeremiah is an apprentice who earns $9.50 an hour, with time and a half for overtime. Under a new contract, he will
receive an 8% raise. Jeremiah figures that he will receive $114.00 for working 8 hours of overtime under the new pay
rate. If Jeremiah made an error in his calculations, what was it?

A. He figured the overtime at the old pay rate.

B. He used a 10% raise instead of 8%.

C. He calculated the 8 hours at the new hourly rate instead of time and a half.

D. He calculated for 10 hours of overtime instead of 8.

E. He did not make an error in his calculations.

Correct Answer: A

QUESTION 4

A local swimming pool contractor is going to install a circular swimming pool having a diameter of 27 feet. How much
area will the pool take up of the customer\\'s yard?

84.78 ft2
286.13 2
572.27 ft2
1144 53 ;2
2289 06 #t2

mo o ome

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: C

Latest WORKKEYS Dumps | WORKKEYS PDF Dumps | WORKKEYS Practice Test 3/4


https://www.geekcert.com/workkeys.html
https://www.geekcert.com/workkeys.html
https://www.geekcert.com/workkeys.html

VCE & PDF https://www.geekcert.com/workkeys.html
' 2024 Latest geekcert WORKKEYS PDF and VCE dumps Download

GeekCert.com

QUESTION 5

In your job as a cashier at Sticky Mart, a customer gives you a $10 bill to pay for candy that costs $5.34. How much
change should you give back?

A. $3.18
B. $4.34
C. $4.66
D. $5.34
E. $5.66

Correct Answer: C
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